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THE GRIDLINE INTERSECTION METHOD

1. Randomly disperse cleared and stained roots in dish with grid lines

Fine forceps and dissecting needle
Root sample in lactoglycerol

—= =——=" [

NS
O ﬂ

B

= —g%—_, —==
/q\\§\ =
2. Assess mycorrhizal colonisation R AT o i
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under a dissecting microscope = .2

Total roots  Mycorrhizal roots

3. Follow all horizontal and vertical [
lines. Count intersects with roots
and mycorrhizas separately
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Vertical 2/2 2/4 1/2 0/3 3/4 0/1 1/2 Total = 30/60 =50%
root length colonised

Repeat for
vertical lines 1/2
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